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Questions

His book called"Etudes sur la Biere" was translated into.........

Pasteur offered himself as a soldier but was refused on the score of physical.

In 1870 France and ............ were plunged into war.

It stimulated other scientists to study the ............. of germs.

In 1860 the French Academy offered a prize to Pasteur that spontaneous.............. was
impossible.

In s at the age of twenty six he became Deputy Professor of Chemistry

IN1842 when he was..................... he went in for the entrance examination to the great Ecole
Norm ale.

He was already much interested in................

He devoted his attention to fishing and making .............ccccoc.e.. of his companions.

Then at twenty, he received a share in a.

The Flemings, born on the land, were becoming a................. family

At fourteen he went to

He want to Kilmarnock

His father died when he was.................. years old.

Fleming was born on a farm near Darvel on August i6

Answers Choice

A. Urud

B. Arabic
C. English
D. Japani

A. Capacity
. Prowess
. Incapacity
. Strength

. Russia

. Britain

. Germany
. Holland

. Beauty

. Ugliness
. Habits

. Alertness

. Generation

. Certification

. Acceleration

. Generalization

. 1748
. 1848
. 1948
. 1858

. Twelve
. Twenty
. Fifteen
. Thirty

. Mathematics

. social sciences
. Chemistry

. Botany

. Fool
. Fun
. Jokes

. Legacy

. Regency
. Pharmacy
. Clemency

. Technician

. Educationist
. Medical

. Business

. Paris

. Washington
. London

. New York

. Academy
. School

. College

. University

. Five

. Eleven
. Seven
. Nine

. 1681
. 1781
. 1881
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The problem was still unsolved in.............c.......... when Alexander Fleming passed his
medical examination.

disease was, in fact, a fight between the leucocytes and the

twas a .....cooevveeeennns named Metchnikoff who revealed the true nature of the problem.
Lister.....ccocoeneennen. his instruments with carbolic acid.
Joseph Lister, an............... surgeon applied Pasteur's discovery to surgery.

. 1606
. 1706

. 1806
. Grims

. Gyms
. grams
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. Biologist

C. Urologist
D. <div><br></div>
<div>zoologist</div>

A. Rationalized
B. Reconciled

D. Commercialized
B. Australian

C. American
D. Arabian



